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ALU = Arithmetic Logic Unit(f,] 7o 3erEl #17 )

ANSI = American National Standards Institute (s 4 15 )
ASCII = American Standard Code of Information Interchange(z_
3115 R 500502 £ )

CPU = Central Processing Unit(f| 1\ 7E #17)

GUI = Graphical User Interface(ﬂ%ﬁ'%fﬁ[ﬁ'ﬁ?{ E‘#Ewﬁ%ﬁﬁ'%ﬂjt’l fTTE)
LS:%): International Organization for Standardization (g [FA5 7=
AN- AH

RAM = Random Access Memory(ﬁ%&?{/?l‘[ﬁ )

ROM = Read Only Memory(P%%j‘%l'[‘;j\?g)

SCSI = Small Computer System Interface('J‘fr'J”F%’TFﬁ, AR T )
USB = Universal Serial Bus({‘ﬂ]E'Jf[ Ik ED
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ALU, Memory, Control Unit, Input, Output
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>From Wiki
CD-RW drive uses a medium-power laser beam to
change pits to lands. The beam changes a spot from

the amorphous state to the crystalline state.
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(1) No, | can't finish that in an hour.
(2) [(28*1024) bytes / (56/8) bytes | / 60(s)
=68.47 5581 /60 =1.14"] Eﬁ




e 7. [10000000]

(1) 128 (28x1)

(2)0 (-0)

(3) -127 (127=(01111111), = (10000000):)
(4) -128

(128=(10000000): = (01111111))
((01111111)2+1 = (10000000): )

(5) 1 ( (10000000): - (01111111)>=1)



Binary
value

00000000
00000001

01111111
10000000

11111111

e 8.

2. text editor

8 bit excess-127

Excess-127
interpretation

=127
-126

+128

Unsigned
interpretation

0
1

127
128

295

from :



http://en.wikipedia.org/wiki/Signed_number_representations#Excess-N
http://en.wikipedia.org/wiki/Signed_number_representations#Excess-N
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(1) 1011, overflow
0111
+0110
1011

(2) 1100, overflow
0110
+0110
1100

(3) 1000 (1100 = 0011+1 > 0100)
0100
+0100
1000
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(4) 0000 (1001 = 0110+1 > 0111)
0111
-0111
0000

(5) 0001 (1010 = 0101+1 = 0110)
0111
-0110

0001
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(1) (12+34)7=(46)7
(2) (56+56)7=(145)7
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6
6
5
T

6+6 =12 =(1 5);
5+5+1=11= (1 4)
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(3) (11*11)7=(121)7
1 1

x1 1
1 1
1 1

1
1 2 1
(4) (12*12)7=(144)7
1 2

x1l 2
2 4

1 2
1 4 4
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(5) (25*25)7=(1024)7

1 3

2 5 25 =(3 4)7
X 5 10=(1_ 3)7
1 6 4
1

2 5
X 2 10=(1 3)7
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(5) (25*25)7=(1024)7
1 1
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